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Aptitude & Mental Ability Set 8
1. AGMS ciou?

a. ABCD ascd b. BHNT bhnt c. BHNT djpv d. bhnt DJPV
AGMS ciou?

a. ABCD ascd b. BHNT bhnt c. BHNT djpv d. bhnt DJPV
Solution

AGMS ciou

A C

G i

M o}

S u

The middle letters were the answers
BHNT bhnt

2. If the length, breadth and height of a cuboid are are 2m, 2m and 1 m respectively, then
its surface area is (in m?)

a. 8 b. 12 c.16 d. 24

215, 215 wHmid 115 spdHleumenm (peormBi [B6T, Sig6v, 2 WITEISGETTE 2 6mL UL S6vT O\F6w6185 65T
Qeuerfliiuniiy (in m?)

a.8 b. 12 c.16 d.24
Solution
Surface area of cuboid = 2 (Ib + bh + hl)
Surface area of cuboid = 2 ((2*2)+(2*1)+(2*1))
Surface area of cuboid = 2 (4 +2 + 2)
Surface area of cuboid = 2 (8)
Surface area of cuboid = 16 m?
3. The ratio of the circumference of two circles is 2:3. What is the ratio of their areas?

a.2:3 b.4:9 c.3:2 d.o:4
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8 eulLruserfletr amemeyserflest aflflg 2:3 stesfled Sigetr LpLiLsertlssr all&sw wimg)?

a.2:3 b.4:9 c.3:2 d.9:4
Solution

Let the radii of two circles are r; and 1, respectively.

circumference of 1st circle _ 2

circumference of 2nd circle 3

27TT1 - E
277,'7"2 3
n_2

Ty 3

TiN2 — (252
@7 =6)

Area of 1st circle - (r1)2 - (3)2 4
3

Area of 2nd circle ) 9

4. If the compound interest on a certain sum for 3 years at 10% per annum be Rs. 331, what
would be the simple interest?

a. 250 b. 231 c.331 d. 300
au(BL Fal (B 6ully 10% eTevflev, 6(5 QaMema 3 au(HLESHEL QLB Fal (b 6ul-lg em. 331 eTestley,
ABS CFMen s, HEC HMevSHSHlev ILI(HLD Hevtleul lg TeusueTey?

a. 250 b. 231 c. 331 d. 300

Solution
CI=P(1+—)"~P
331=P(1+%)3—P
P((1+%)3—1)=331
P((1+%)3—1)=331
P((-)° -1)=331
P((11)3-1)=331

P((1.331 -1)=331
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0.331P = 331
_ 331
0.331
P = Rs 1000
SI = %
- 1000%3%10 - RS. 300

100

5. The G.C.D.of 1.08,.36 and 0.91s
a.0.03 b.0.9 c. 0.18 d. 0.108

1.08, .36, 0.9 o flwi epedr) stevtrsseilest LBLIQLI(TH QUING) 61(8) 6T6vsTEuTTE0IS)|

a. 0.03 b.0.9 c. 0.18 d.0.108
Solution
Given numbers are 1.08, 0.36 and 0.90 which we can take as 108, 36, 90
H.C.F 0of 108, 36 and 90 is 18 [+ G.C.D is nothing but H.C.F]
108=3*3*3*2*2
36=3*3*2*2
90=3*3*2*5
H.CF=3*3*2=18 convert to decimal = 0.18
Therefore, H.C.F of given numbers = 0.18
6. A cube has a total surface area of 384 cm?. Find its volume.

a. 346 cm?® b. 512 cm?® c. 64 cm? d. 248 cm?
QI B6v1EF F&ITSHSHl6tT QongsL UpUurliL 384 &.01&.15 e16stl6v, DiH65T H6BT i6Ten6Us: &TesoT.
a. 346 cm?® b. 512 cm? c. 64 cm? d. 248 cm?®

Solution

TSA of cube=6a?

384=6 a?
a’ =64
a=8cm

Volume= a® = 83 =512 cm?
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1

7. Find the value of — + —+—+ -+

3X4 4X5 9%x10
5 2 1 1
a.— b.= C.— d.—
10 5 20 10
1 1 1 1 . . .
e Ks-" ---+—9X10-67>‘r DS HTEsoTS.
5 2 1 1
a.— b.= C.— d —
10 5 20 10
Solution

1
M@+1)  @@+1) () (n+1)

. 1-— 1 1
nt! term of the series = = (o1

1
(n+1)

If you add all the terms of this series (to n terms), you get a sum of % - as all the

other terms cancel out.

8. Find the area of a parallelogram whose base and height are 9cm and 5 cm respectively

a. 45 cm? b. 40 cm? c. 14 cm? d. 22.5cm?

SlplIL&SD 9 QFL HMID 2 WHD 5 QF.15 eTestald 2 6mL W Qen6stisI&Hl6sT LITLILIET6Y SHT6soTs:.
3. 45 5.0515 <. 40 5.05.15 8.14 5.0&.15 . 22.58.Q&0

Solution
Area of parallelogram=b *h
Area of parallelogram = 9 * 5 = 45 cm?
9. The ratio of the incircle and circumcircle of a square is
a.1:2 b.2:3 c.3:4 d.4:5
Q(H FSINEHSH60T LSSMISm6NS QST (HE QFevsy|ld 2 6Teul LD HMID (WemeoTLiLl6iTsr culflGuis
Q&evsy|ld Geusleul L Slest LipLiLgeflest afldlgn

a.1:2 b.2:3 c.3:4 d.4:5
Solution
Let the side of the square be x. Then, its diagonal = V2x2 = v2x

Radius of incircle = E

Radius of circum circle= /2 * g = %
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10.

11.

The formula of circle = rr?

2 2

X
4 2

. X

Required ratio = % -=1:2

N |

The time duration of 1 hour 45 minutes is what percentage of a day?

a.7.218% b. 7.291% c.8.3% d. 8.24%
1 wewsfl 45 HISIL LD eT6dTLIG) (15 Br6T68T ETHSHEM6BT FHETHD?
a.7.218% b. 7.291% c.8.3% d. 8.24%
Solution

1 hour and 45 minutes =105 minutes

Now in a day there are 24x60 minutes

105%100

So required percentage= a0

=7.291

Two Tailors X and Y are paid a total of Rs. 550per week by their employer. If X is paid
120 percent of the sum paid to Y. Then how much is Y paid per week?

a.Rs. 200 b. Rs. 250 c. Rs. 300 d. R. 350

X oomw Y eetm @@ emngweosnyisst GC&imbgl, sumpsdHlev emumil 550 &buemons
Qumdlestmesty. Y-eo1 gbusngSlev 120%gy X gbuemons QumiSlmmy elesfled Y-65T (5 eurmy
FLDLIGITLD 6TEUAI6TE?

. em.20 9. €. 250 @. em. 300 . erp.350
Solution

Combined salary of X and Y is 550

X+Y=550

120% of Y+Y =550(as X is paid 120 percent of the sum paid to Y,

% * Y +Y =550 so substitute X for 120%0fY)

L Y+Y=550
10

12Y+10Y =5500 (by taking l.c.m)

22Y=5500
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12.

13.

5500
y=2%
22

Y=250

A,Band C starts at the same time in the same direction to run around a circular stadium.
A completes a round a circular stadium. A completes a round in 252 seconds, B in 308
seconds and C in 198 seconds, all starting at the same point. After what time will they
meet again at the starting point

a. 26 minutes 18 seconds b. 45minutes 0 seconds

c. 42 minutes 36 seconds d. 46 minutes 12 seconds

AB.C op8lw cpeupd Gy CrrsdHlev Gr Slenauilev 6(m 6ULLLOTET MSTETTSHENHF SNl
hHletmesty. A opevteu; 252 efleormoserfleyid B opevteu; 308 eflevrmgserflsyio , C 198
aflestmigserflevid @ (PWLF FHeOS (PIRLILIMISEIT 6T6vll6b SHEUTSHET CLPEU(HLD Floushs: QL GHleyb

€63TMITS 6UIT 6T6UEUETEY GIBITLD B (GHLD

4. 26 (KIS 18 eflevTrig . 45 1L 0 ellestmy
8. 42 BlIBIL b 36 aflevtmiy 8. 46 HulL1b 12 eflevTmig
Solution

A complete his round in 252 seconds.

B completes his round in 308 seconds.

C completes his round in 198 seconds.

They will agian at starting together after,

LCM of 252, 308 and 198.

252 = 2 *2 *3*3*7

308 = 2 *2*7*11

198 = 2 *3*3*11

Required LCM = 2*2*3*3*7*11 = 2772 seconds = 46 minutes 12 seconds.
The Boolean function A+BC is the reduced form of

a. AB+BC b. (A+B) (A+C) c. AB+ABC d. (A+C)B
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A+BC et LeSlWwi6tT EMTLINETS| &(TH&&WELING) LilesTeu(HLeustToDMIET 6187

a. AB+BC b. (A+B) (A+C) c. AB+ABC d. (A+C)B
Solution
A+BC = (A+B) (A+C)

14. A and B can together finish a work in 30 days. They worked for it for 20 days and then
B left. If the remaining work was done by A alone in 20 more days, A alone can finish
the total work in

a. 48 days b. 50 days c. 54 days d. 60 days

A vomib B Qenevwtibg ef Geuemevenws 30 mrLiserfled Q&ulsuy. 20 BIL&ET @ H6U(HLD
Bevesoihgl Ceuemev QFG Lilest B Geuemeowiledl(mba) aflevd) efll L. Bgweiter Geausmsvemiul
A (B 20 Brisst QEwgm eesflev (WL Ceauemevemwt A L (HD QFG Wivss 610555
Q&M6IT(EHLD BTL&6IT

. 48mBILser . 50 BrLger 8. 54 B &6 rr. 60 AL S 6T

Solution

Amount of work done in 1 day = %

Amount of work done in 20 days = 20 * (%) = g

Remaining work =1 -

w N
w |

Given, A completes gwork in 20 days.

Therefore, A can finish the whole work in (20 x 3) = 60 days.
Alternate method

The work completed by A&B in one day is,
1
-+

— % RN ¢

1,1 1 1
G+*20+1%20=1-(2)

@ |-

Substitute the value of equation (1) in equation (2),

30 A

20 |, 20
— =1

Learning Leads To Ruling Page 7 of 10



http://www.winmeen.com/

Aptitude & Mental Ability Prepared By www.winmeen.com

15.

16.

17.

So A alone can finish work in 60 days

A can do a certain job in 12 days B is 60% more efficient than A. How many days B alone
take to do the same job?

a. 7 days b. 8 days c. 7 2days d. 6 days

12 mrisefleo A eestueu] & Geusmevemrw (WipsHlmmy. B erestueu; Aemw efll 60%
Smemowimesteuly etestled B gevflins 9188 Geuemeveni 616 & ement BT s6rfl60 (PlgLliLIm?
. 7T BIL&ET . 8 BILS&ET . 7 V2 g6 . 6 [BIL&6IT

Solution

60% more efficient means B can do 160% of work in same no. of days as A takes to do
100% of work.

160% work in 12 days

100% work in x days

x = 12199 - 7 5= 7 K days
160
HCF of x2-2xy + y? and x* — y*is

a.l b. X +y C.X—Yy d. x? - y?

X2-2Xy + y2 bomib x* — y* 61 15.QLM.6u eTedTLIG

a.l b. X +y C.X—Yy d. x? - y?

Solution

x?-2xy +y?=(x - y)

x4 - yt=x4 -yt

HCFof(x - y)’=x-y

HCFofxt-y*=x-y

Simplify : 123+133-253

a. -11700 b. 11700 c. 1170 d.-1170
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G(H&GS: 123+133-25°

a. -11700 b. 11700 c. 1170 d. -1170
Solution
123=1728
133 = 2197
25°% = 15625
123+133-25% = 1728 — 2197 — 15625 = -11700
18. 252 can be expressed as a product of primes as
a. 2 x2x3x3x7 b. 2 X2x2x3x7 C. 3x3x3x 3 X7 d. 2 x3x3x3x 7

25285 eT6u6uMM| LIGIT 6T6551861T68T GILI(THEHSHE0ME 6T(LDSEVITLD

a. 2 X2x3x3x7 b. 2 X2x2x3x7 C. 3x3x3x 3 X7 d. 2 x3x3x3x 7
Solution
252 = 2 x2x3%x3x7
19. If 10% of x is equal to 20% of y then find x :y
a.3:2 b.1:2 c.2:1 d.3:1
X-65T L& G| §&615L0mev1g) y-61 20%8(8 &LoLbd eTevtlev X :yedt llienL Sesor(hLilg

a.3:2 b.1:2 c.2:1 d.3:1
Solution
Let us assume x=100
10% of x=20% of y
10% of 100=20% of y
10=20% of y
10*5 =50 =y
If xis 100 & y is 50, x is twice asbigas y
Ratioxy=2:1
20.72% of 25 students are good in Mathematics. How many are not good in Mathematics?

a.18 b.7 c.16 d. 12
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p y P y

25 wmessteujsserfled 72% Guij sessllgliLm_&Hlev Slmemowimesteuiasit etevflev sevollgll LIML &0
SmenowmmeurseT 618 gemest GLif?

a. 18 b.7 c.16 d. 12

Solution

If, students good in math = 72%

Total no. of students= 25

Then, percent are used to have 100.

Therefor, 72 * 12750 =18

Then, no of students good in math =18

Total no. Of student = 25

Therefore, Students not good in maths = total no. of students - no. Of students good in
maths

=25-18

=7
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